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1 afnaflnsf 0 s[i0f v+u zDe'gfy g=kf= $ 2068.8.8 ;fn 149÷;Kt/L nugL b]jL v+u ÷ dx]Zj/ v+u

2 afnaflnsf 0 /fd s'df/ ;bf zDe'gfy g=kf= $ 268.8.15 ;fn 5÷;Kt/L l;tn b]jL ;bf ÷ lhj5 s'df/ ;bf

3 afnaflnsf 0 ceo s'df/ d08n zDe'gfy g=kf= $ 2068.8.12 ;fn 146÷;Kt/L ;'lhtf s'df/L v+u vTj] ÷ ljGb' nfn d08n

4 afnaflnsf 0 lk|o+sf s'df/L ;bf zDe'gfy g=kf= $ 2068.9.13 ;fn 140÷;Kt/L >LjtL b]jL ;bf ÷ sfd]Zj/ ;bf

5 afnaflnsf 0 ;'dg s'df/L /fd zDe'gfy g=kf= $ 2068.10.5 ;fn 30÷;Kt/L ;'lgtf sd'f/L /fd ÷ l;t s'df/ /fd

6 afnaflnsf 0 /fh' s'df/ d08n zDe'gfy g=kf= $ 2069.2.12 ;fn 32÷;Kt/L /fwf b]jL d08n ÷ /fd]Zj/ d08n

7 afnaflnsf 0 lblksf s'df/L /fd zDe'gfy g=kf= $ 2068.12.7 ;fn 9÷;Kt/L pld{nf  /fd ÷ j;Gt  /fd

8 afnaflnsf 0 /flwsf s'df/L ;bf zDe'gfy g=kf= $ 2068.9.15 ;fn 132÷;Kt/L /+lhtf s'df/L ;bf ÷ lj/]Gb| ;bf

9 afnaflnsf 0 ljj]s s'df/ /fd zDe'gfy g=kf= $ 2068.8.9 ;fn 129÷;Kt/L ddtf b]jL /fd ÷ b]j ;'Gb/ /fd

10 afnaflnsf 0 lzj cjtf/ /fd zDe'gfy g=kf= $ 2068.7.21 ;fn 119÷;Kt/L ;'lh{ b]jL /fd ÷ ;To gf/fo0f /fd

11 afnaflnsf 0 nId0f df]rL zDe'gfy g=kf= $ 2068.7.11 ;fn 180÷;Kt/L nlntf b]jL df]rL ÷ /fd b]jL df]rL

12 afnaflnsf 0 ;'lbk s'df/ ;/bf/ zDe'gfy g=kf= $ 2068.11.28 ;fn 187÷;Kt/L nlntf s'df/L ;/bf/ ÷ /fd s'df/ ;/bf/

13 afnaflnsf 0 ;+Wof s'df/L ;/bf/ zDe'gfy g=kf= $ 2062.3.18 ;fn 37÷;Kt/L nlntf s'df/L ;/bf/ ÷ nlnt s'df/ ;/bf/

14 afnaflnsf 0 ljqmd ;/bf/ zDe'gfy g=kf= $ 2068.10.12 ;fn 23÷;Kt/L d+h' s'df/L ;/bf/ ÷ a'b'/ ;/bf/

15 afnaflnsf 0 k|sfz ;/bf/ zDe'gfy g=kf= $ 2069.10.28 ;fn 41÷;Kt/L ;]jls b]jL ;/bf/ ÷ lzj s'df/ ;/bf/

16 afnaflnsf 0 ;'Gb/snf s'df/L ;/bf/ zDe'gfy g=kf= $ 2069.7.14 ;fn 37÷;Kt/L /fd s'df/L ;/bf/ ÷ sG5' ;/bf/

17 afnaflnsf 0 v';Ls'df/L /fd zDe'gfy g=kf= $ 2069.7.7 ;fn 202÷;Kt/L lnnd s'df/L /fd ÷ b]j gf/fo0f /fd

18 afnaflnsf 0 cflnzf /fd zDe'gfy g=kf= $ 2068.9.8 ;fn 38÷;Kt/L l6sf s'df/L dxtf] /fd ÷ a'g' /fd

19 afnaflnsf 0 lg/h s'df/ /fd zDe'gfy g=kf= $ 2069.3.4 ;fn 44÷;Kt/L ;+h' s'df/L /fd ÷ s[kfgGb /fd

20 afnaflnsf 0 ;+tf]ifL s'df/L /fd zDe'gfy g=kf= $ 2069.9.4 ;fn 215÷;Kt/L b/f] s'df/L /fd ÷ nfn s'df/ /fd

21 afnaflnsf 0 lzj s'df/ /fd zDe'gfy g=kf= $ 2068.12.7 ;fn 15÷;Kt/L /fdk/L b]jL /fd ÷ sn]Zj/ /fd

22 afnaflnsf 0 dlgsf  d08n zDe'gfy g=kf= $ 2069.10.10 ;fn 17÷;Kt/L ;l/tf s'df/L d08n ÷ s[kf v+u vTj]

23 afnaflnsf 0 zf/wf s'df/L /fd zDe'gfy g=kf= $ 2069.7.22 ;fn 207÷;Kt/L d'lGb|sf /fd ÷ ;'sb]j /fd

24 afnaflnsf 0 cljgfz 'sdf/ ;/bf/ zDe'gfy g=kf= $ 269.3.30 ;fn 60÷;Kt/L /]vf s'df/L ;/bf/ ÷ ;+ho s'df/ ;/bf/
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25 afnaflnsf 0 sfl;Gb/ s'df/ v+u zDe'gfy g=kf= $ 2070.2.9 ;fn 68÷;Kt/L cfglGb b]jL v+u ÷ /fd ;]js v+u

26 afnaflnsf 0 clg;f s'df/L ;bf zDe'gfy g=kf= $ 2068.8.26 ;fn 130÷;Kt/L nlntf s'df/L ;bf ÷ k|e' ;bf

27 afnaflnsf 0 uf]ljGb ;/bf/ zDe'gfy g=kf= $ 2069.3.8 ;fn 78÷;Kt/L dw' b]jL ;/bf/ ÷ l;tf/fd ;/bf/

28 afnaflnsf 0 sfl;Gb/ s'df/ v+u zDe'gfy g=kf= $ 2070.2.9 ;fn 68÷;Kt/L cfglGb b]jL v+u ÷ /fd ;]js v+u

29 afnaflnsf 0 ;'/h s'df/ d08n zDe'gfy g=kf= $ 2070.1.1 ;fn 123÷;Kt/L Zofd s'df/L d08n ÷ efujt d08n

30 afnaflnsf 0 ;'lgn s'df/ d08n zDe'gfy g=kf= $ 2069.8.22 ;fn 134÷;Kt/L d'lt{ d08n ÷ sfn' /fd d08n

31 afnaflnsf 0 /3' d08n zDe'gfy g=kf= $ 2070.5.15 ;fn 108÷;Kt/L cl;of s'df/L d08n ÷ dg' v+u 

32 afnaflnsf 0 l;tf s'df/L d08n zDe'gfy g=kf= $ 2069.8.17 ;fn 123÷;Kt/L ;f]tLof s'df/L d08n ÷ /fdafa' nfn d08n

33 afnaflnsf 0 ljls ;/bf/ zDe'gfy g=kf= $ 2070.4.13 ;fn 109÷;Kt/L d+h' s'df/L ;/bf/ ÷ a'b'/ nfn ;/bf/

34 afnaflnsf 0 lw/h s'df/ /fd zDe'gfy g=kf= $ 2070.10.10 ;fn 15÷;Kt/L sf]lznf s'df/L /fd ÷ a|xdfgGb /fd

35 afnaflnsf 0 ;'/h d08n zDe'gfy g=kf= $ 2068.9.15 ;fn 138÷;Kt/L Zofd s'df/L d08n ÷ /fd s'df/ v+u

36 afnaflnsf 0 ljj]s s'df/ /fd zDe'gfy g=kf= $ 2071.6.21 ;fn 14÷;Kt/L ;+lutf s'df/L /fd ÷ k|]d s'df/ /fd

37 afnaflnsf 0 ?k]z s'df/ ;/bf/ zDe'gfy g=kf= $ 2071.5.29 ;fn 13÷;Kt/L ;ljtf s'df/L ;/bf/ ÷ ;'lgn s'df/ ;/bf/

38 afnaflnsf 0 lzj gf/fo0f /fd zDe'gfy g=kf= $ 2071.6.15 ;fn 26÷;Kt/L 7sgL b]jL /fd ÷ /fh s'df/ /fd

39 afnaflnsf 0 clgz s'df/ ;/bf/ zDe'gfy g=kf= $ 2071.6.18 ;fn 33÷;Kt/L lhtgL b]jL ;/bf/ ÷ cfzf/fd ;/bf/

40 afnaflnsf 0 lzj ;/bf/ zDe'gfy g=kf= $ 2071.5.4 ;fn 21÷;Kt/L ldgf s'df/L b]jL ;/bf/ ÷ k|]d s'df/ ;/bf/

41 afnaflnsf 0 /fhg ;/bf/ zDe'gfy g=kf= $ 2069.8.17 ;fn 131÷;Kt/L aaL s'df/L ;/bf/ ÷ clgn s'df/ ;/bf/

42 afnaflnsf 0 cg'/fu s'df/ /fd zDe'gfy g=kf= $ 2071.5.14 ;fn 24÷;Kt/L /fwf b]jL /fd ÷ wlgnfn /fd

43 afnaflnsf 0 lg/h s'df/ d08n zDe'gfy g=kf= $ 2071.2.11 ;fn 9÷;Kt/L Zofd s'df/L d08n ÷ /fd s'df/ d08n

44 afnaflnsf 0 lzjd s'df/ d08n zDe'gfy g=kf= $ 2071.1.12 ;fn 30÷;Kt/L ;'ldGb|f s'df/L d08n ÷ an/fd d08n

45 afnaflnsf 0 lgtLsff s'df/L kf;dfg zDe'gfy g=kf= $ 2071.6.1 ;fn 27÷;Kt/L nlntf s'df/L kf;dfg ÷ >j0f s'df/ kf;dfg

46 afnaflnsf 0 cfl;sL s'df/L kf;dfg zDe'gfy g=kf= $ 2071.1.24 ;fn 60÷;Kt/L jljtf s'df/L kf;dfg ÷ /fhfgGb kf;dfg

47 afnaflnsf 0 ;'ldgf s'df/L /fd zDe'gfy g=kf= $ 2069.8.15 ;fn 204÷;Kt/L lx/f s'df/L /fd ÷ pk]Gb| /fd

48 afnaflnsf 0 ;'l:dtf s'df/L /fd zDe'gfy g=kf= $ 2070.11.12 ;fn 19÷;Kt/L cfglGb b]jL /fd ÷ sdn s'df/ /fd

49 afnaflnsf 0 nIdL s'df/L /fd zDe'gfy g=kf= $ 2071.7.6 ;fn 25÷;Kt/L zDef sd'f/L /fd ÷ ljdn /fd
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50 afnaflnsf 0 k|ltdf s'df/L /fd zDe'gfy g=kf= $ 2070.11.12 ;fn 20÷;Kt/L lx/f s'df/L /fd ÷ sdn s'df/ /fd

51 afnaflnsf 0 /flwsf s'df/L d08n zDe'gfy g=kf= $ 2071.7.18 ;fn 33÷;Kt/L ;l/tf s'df/L d08n ÷ s[i0f v+u vTj]

52 afnaflnsf 0 nIdL s'df/L d08n zDe'gfy g=kf= $ 2071.8.11 ;fn 32÷;Kt/L k/dLnf s'df/L d08n ÷ /3'lj/ d08n

53 afnaflnsf 0 ?k]z s'df/ ;bf zDe'gfy g=kf= $ 2071.4.21 ;fn 39÷;Kt/L ;+lutf b]jL ;bf ÷ Zofd s'df/ ;bf

54 afnaflnsf 0 ;+ho /fd zDe'gfy g=kf= $ 2062.7.24 ;fn 104÷;Kt/L pld{nf  /fd ÷ z+s/ /fd

55 afnaflnsf 0 cljz]s kf;dfg zDe'gfy g=kf= $ 2068.12.5 ;fn 21÷;Kt/L u+luof b]jL kf;dfg ÷ pd]z kf;dfg

56 afnaflnsf 0 lgt' s'df/L ;/bf/ zDe'gfy g=kf= $ 2071.11.20 ;fn 33÷;Kt/L  ;/bf/ ÷  ;/bf/ gofF yk

57 afnaflnsf 0 k':tLsf s'df/L kf;dfg zDe'gfy g=kf= $ 2072.03.05 ;fn 23÷;Kt/L  kf;dfg ÷  kf;dfg gofF yk

58 afnaflnsf 0 Clifsf s'df/L kf;dfg zDe'gfy g=kf= $ 2073.07.02 ;fn 24÷;Kt/L  kf;dfg ÷  kf;dfg gofF yk

59 afnaflnsf 0 lk|o+sf s'df/L /fd zDe'gfy g=kf= $ 2071.06.6 ;fn 22÷;Kt/L  /fd ÷  /fd gofF yk

60 afnaflnsf 0 z'l:dtf s'df/L d08n zDe'gfy g=kf= $ 2071.10.22 ;fn 79÷;Kt/L  d08n ÷  d08n gofF yk

61 afnaflnsf 0 gGbgL s'df/L d08n zDe'gfy g=kf= $ 2072.09.23 ;fn 29÷;Kt/L  d08n ÷  d08n gofF yk

62 afnaflnsf 0 dlgsf s'df/L ;bf zDe'gfy g=kf= $ 2073.02.12 ;fn 26÷;Kt/L  ;bf ÷  ;bf gofF yk

63 afnaflnsf 0 Og/lht ;bf zDe'gfy g=kf= $ 2071.9.8 ;fn 25÷;Kt/L  ;bf ÷  ;bf gofF yk

64 afnaflnsf 0 e'k]Gb| v+u zDe'gfy g=kf= $ 2072.6.30 ;fn 31÷;Kt/L  v+u ÷  v+u gofF yk

65 afnaflnsf 0 cugL s'df/ /fd zDe'gfy g=kf= $ 2072.2.13 ;fn 5÷;Kt/L  /fd ÷  /fd gofF yk

66 afnaflnsf 0 cfbz{ s'df/ ;/bf/ zDe'gfy g=kf= $ 2070.09.15 ;fn 2÷;Kt/L  ;/bf/ ÷  ;/bf/ gofF yk

67 afnaflnsf 0 cfo'; ;/bf/ zDe'gfy g=kf= $ 2071.8.8 ;fn 21÷;Kt/L  ;/bf/ ÷  ;/bf/ gofF yk

68 afnaflnsf 0 /fx'n d08n zDe'gfy g=kf= $ 2072.3.28 ;fn 28÷;Kt/L  d08n ÷  d08n gofF yk

69 afnaflnsf 0 z';ffGt ;/bf/ zDe'gfy g=kf= $ 2070.6.30 ;fn 104÷;Kt/L  ;/bf/ ÷  ;/bf/ gofF yk

70 afnaflnsf 0 ljsfz s'df/ ;/bf/ zDe'gfy g=kf= $ 2070.9.12 ;fn 41÷;Kt/L  ;/bf/ ÷  ;/bf/ gofF yk

71 afnaflnsf 0 kz'klt s'df/ d08n zDe'gfy g=kf= $ 2073.05.17 ;fn 30÷;Kt/L  d08n ÷  d08n gofF yk


